
The line passing through (-8, -9) and
(-2, h) has a gradient of -1.4

Find h.
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27th September e

A sphere has radius x cm.
A cylinder has radius 2y cm and height
5y cm.

The surface area of both shapes are
equal.

iv:*-'

5y

Showx:y-1ft:l
S1Aarc lA = 4n r^ = l+n xL

7r"l* tA. 2ti-1.\ I 2r.L
- zn(zl(s1) + zn(zrf

.L

a
1.

a

+
:)

l=lf

J}., I

:)

.,2c

- 28rf
= 2prJ.
-7

tl x'
zL

3-r-3v*8:-149

4x*2y-52=-47 ())

2x+5y*z---6 (r)

(r) (|)rr+-(s)rq3 -2rlx =

9 X'

t3

9

:)

,J
,7

l3x+4,

4 l4r +2
-'-197 (t,

= -1+ (5)

* 200y
I

(r)re- (

(t)re+(

tb-3ttz--6

Name: 5-a-day Further Maths

O Corbettmaths 2019 www.corbettmaths.com

Corbettmcths

Solve the simultaneous equations

Y = -7_+_


